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1. India's first-of-its-kind 'Voter Park' has recently
been inaugurated in which of the following cities?

(a) Kolkata (b) Pune

(c) Dehradun (d) Gurugram
2. The World Health Day is observed on........

(a) 3rd April (b) 4th April

(c) 5th April (d) 7th April

3. Which Indian city ranks first on the WHO's list of
15 most polluted cities?

(a) Varanasi (b) Faridabad

(c) Kanpur (d) New Delhi
4. Who is the father of Geometry?

(a) Aristotle (b) Euclid

(c) Pythagoras (d) Kepler

5. Jerrie Cobb, who passed away recently, was the
first female astronaut candidate of which space

agency?
(a) Roscosmos (b) NASA
(c) JAXA (d) Canadian Space Agency

Directions (Q 6-10): In questions given below out of
four alternatives, choose the one which can be
substituted by the given word/ sentence.
6. A person who renounces the world and practices self-
discipline in order to attain salvation.

(a) Sceptic (b) Ascetic

(c) Devotee (d) Antiquarian
7. One who abandons one’s religious faith.

(a) Apostate (b) Prostate

(c) Profane (d) Agnostic
8. A hater of knowledge and learning

(a) Bibliophile (b) Philologist
(c) Misogynist (d) Misologist

9. Person who does not believe in the existence of God.
(a) Theist (b) Heretic
(c) Atheist (d) Fanatic

10. One who believes in the power of fate

(a) Fatalist (b) Optimist

(c) Pessimist (d) Parsimonious
11. The salary of an officer has been increased by
30%. By what per cent the new salary must be
reduced to restore the original salary?

(a) 23%% (b) 22%%

(©) 22%% (d) 20%%

12. A machine is marked at Rs 2000. The shopkeeper
allows a 10% discount on it. Find its net selling price.
(a) Rs 1700 (b) Rs 1600
(c) Rs 2800 (d) Rs 1800
13. Which Indian personality has been conferred an
honorary doctorate in Philanthropy by the
University of Law, London?
(a) Shah Rukh Khan (b) Narendra Modi
(c) Sushma Swaraj  (d) Ratan Tata
14. Kartik Chandra Rath, who passed away recently
was the noted theatre personality of which state?
(a) Odisha (b) Jharkhand
(c) Assam (d) West Bengal
15. On which date, the 2019 National Civil Services
Day was celebrated in India recently?

(a) April 21 (b) April 20
(c) April 22 (d) April 23
Directions (Q 16-19): Find the correctly spelt word.
16.  (a) Adulation (b) Adlation
(c) Aduletion (d) Addulation
17.  (a) Acommodation (b) Accomodaton
(c) Accommodation (d) Acomodation
18. (a) Faithfuly (b) Sincerely
(c) Truely (d) Affectionatly

19.  (a) Schedulle (b) Schedeule

(c) Schdule (d) Schedule
20. The women's safety app 'My Circle' has been
launched by which of the following telecom
companies?

(a) Reliance (b) Bharti Airtel

(c) BSNL (d) Vodafone
21. Rohit borrowed Rs 7000 from a bank at 9% per
annum simple interest for higher studies of his son,
what amount did he pay after 2 years and 4 months?

(a) Rs 8070 (b) Rs 8470
(c) Rs 7470 (d) Rs 8000
22. Choose the word which is different from the rest.
(a) Chicken (b) Snake
(c) Swan (d) Crocodile
(e) Frog
23. Choose the word which is different from the rest.
(a) Cap (b) Turban
(c) Helmet (d) Veil

(e) Hat



24. What is the theme of the 2019 World Allergy
Week (WAW)?

(a) The Agony of Hives

(b) The Global Problem of Food Allergy

(c) Anaphylaxis: When Allergies Can Be Severe

and Fatal

(d) Airway Allergies— A Human and Economic

Burden
25. Pointing to a photograph of a boy Suresh said,
""He is the son of the only son of my mother." How is
Suresh related to that boy?

(a) Brother (b) Uncle

(c) Cousin (d) Father
Directions (Q 26-27): In each of the following
questions find out the alternative which will replace
the question mark.
26. CUP: LIP:: BIRD : ?

(a) BUSH (b) GRASS

(c) FOREST (d) BEAK
27. Flow : River :: Stagnant : ?

(a) Rain (b) Stream

(c) Pool (d) Canal

28. A fan which is generally sold for Rs 700 was sold
for Rs 630 due to off season. What per cent discount
was allowed?

(a) 10% (b) 12%

(c) 16% (d) 11%
29. The Gandhara and Mathura Schools of Art were
developed during the region of which of the
following rulers?

(a) Harshavardhana (b) Skandgupta

(c) Kanishka (d) Menander
30. Which Indian cricketer has been appointed as the
brand ambassador of bus ticketing platform
'redBus'?

(a) Rohit Sharma

(¢) M S Dhoni

(b) Virat Kohli
(d) K L Rahul

ANSWERS
1. (d) 2. (d) 3. (c) 4. (b) 5. (b) 6. (b) 7. (a) 8. (d) 9. (¢c)
10. (a) 11. (a) Explanation: Let original salary =Rs 100
Salary after increment = Rs 130
Clearly, for restoring the original salary, a reduction of
Rs 30 should be made on Rs 130.
Thus, reduction on Rs 130 = Rs 30
and, reduction on Rs 100 = [%“00)% = 23%%

- 1
Hence, reduction on new salary = 23;3%

12. (d) Explanation: Marked Price = Rs 2000
Discount = 10%

Net SP=Rs (156*2000) =Rs 1800.
13. (a) 14. (a) 15. (a) 16. () 17. (c) 18. (b) 19. (d) 20.

(b) 21. (b) Explanation: P=Rs 7000, R =9% pa T =

7

1 -
25 years = 3 years

7000x9x7
100x3

PxRXT
100

SI= PRI _ pe (5sT) =Rs 1470

Amount = P + SI

=Rs (7000 + 1470) = Rs 8470.

22. (a) Explanation: All except Chicken can live in
water. 23. (d) Explanation: All except veil cover the
head, while veil covers the face. 24. (b) 25. (d)
Explanation: The boy in the photograph is the only son
of the son of Suresh's mother, ie, the son of Suresh.
Hence, Suresh is the father of that boy. 26. (d)
Explanation: Cup is used to drink something with the
help of lips. Similarly a bird collects grass with the help
of its beak to make its nest. 27. (c) Explanation: As
water of river flows similarly water of pool is stagnant.
28. (a) Explanation: Marked price = Rs 700

Net price = Rs 630

Discount = Rs 70

, 70 .
Percentage discount = (m“oo)/" =10%

29. (c) 30. (c)




